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Problem mit der Analyseprozedur



8000

7000

6000

5000

4000

3000

2000

1000

Likelihood ratio > 1.00

M(K*K'p') for p(K)/p(r) and p(K)/p(p) > 1.00

Entries 1728358

1800

1600

140

3

1200

1000

400|

200

Likelihood ratio > 1.20
M(K*K'p') for p(K)/p(r) and p(K)/p(p) > 1.20
Entries 615305




25000

20000

15000

10000

5000

Likelihood ratio > 1.00

M(Kp,) for p(K)/p(r) and p(K)/p(p) > 1,00

Entries 1728358

2500

2000

1500

1000

Likelihood ratio > 1.20

M(K"p,) for p(K)/p(r) and p(K)/p(p) > 1,20

Entries 615305




Likelihood ratio > 1.00

M(K'p) for p(K)/p(r) and p(K)/p(p) > 1.00

18000
16000
14000
12000
10000
8000
6000
4000

2000

Entries 1728358

10000

8000

6000

400

S

2000

Likelihood ratio > 1.20

M(K'p,) for p(K)/p(19 and p(K)/p(p) > 1.20

Entries 615305




18000

Likelihood ratio > 1.00

M(K'K) for p(K)/p(r) and p(K)/p(p) > 1.00

Entries 1728358

Likelihood ratio > 1.20

M(K'K)) for p(K)/p(r) and p(K)/p(p) > 1.20

10000

8000

6000

2000

Entries 615305




Phi Peak S/B
o
B
a

0.4

0.3

1.05 11 115 12
RICH Likelihood Ratio

Remaining Events

1.05 11 115 12
RICH Likelihood Ratio




Phi Ratio

Gained Phi S/B vs. Lost Events
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Problem mit der Analyseprozedur

Darstellung des Problems

‘ 594 uDSTs |—> ROOT hadd —»[ merged uDST ]

PHAST PHAST

[ 594 histogram files ]—~ ROOT hadd —»[ 1 histogram file ]

compAsy
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PHAST — ROOT hadd ROOT hadd — PHAST
M(K*K’) M(K*K’)
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